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1. Candidates are required to give their answers in their own words as far as practicable .
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39 U U3 B HYdd ugH @ o 15 fAee @ aififRew wwg R man 21

4. The Question Paper is Divided into Two Sections :Section — A and Section —B .

¥E U9 UF S WUSl A ¥ 1 WUS — AU @Wus - B

5. In Section — A |, there are 50 Objective Types Questions which are Compulsory . Each carrying 1
Mark . Darken the Circle with Blue / Black Ball Pen against the Correct Option on OMR Answer
Sheet provided to you . Do Not use Whitener / Liquid / Blade / Nail etc on OMR Sheet, Other the
Result will be Invalid .

@ug — A, % 50 arg e ued g1 wft uw sfad g, e @ o 1 eie fuiRa ®i1s9 &1 sw
Suetel B T OMR % 31 &H QY T | aa & i / F1a dfed 99 F W B off e &
FEeTR / WRagard / @i / g e &1 SwR gRa®t A wd BA 7 @ o1 whanaRum s
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6. In Section — B, there are 26Short Answer Questions , Each carrying 2 Marks , Out of which Any
15 Questions are to be Answered . Apart from this , there are 8 Long Answer Questions | Each
carrying 5 Marks , Out of which Any 4 Questions to be Answered .

wug — B, # 25 agsadia uv ¥ ude uvd @ o 2 oiw Fwifa &, i | 8 15 geni @
IER 21 It B 39a faRe 39 @wve § 8 &id wudly uwd @A M 21 uds & ol 5 3@
fAuifRa 2, rad @ 58 4 uemi & gav a1 21

7. Use of any Electronic Appliances is Strictly Prohibited .
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Q1.

Sol.

Q.2

Sol.

Q.3.

Sol.

Q.4

Sol.

Q.5.

Sol.

Q.6.

Sol.

SECTION—-A(vs - 31)
Objective Type Questions/ axjfAwusA

Tfte arjere & arvald = § feaer sregge fear wrar & 2
(ARTSETT 3y (B) got ISTTIR (C) & JeaTE (D) sugam @il

Which of the following is studied under Macro Economics ?
(A)National Income (B) Full Employment  (C) Total Production (D) All of these

(D)

anfdes A Hera: fhe qe @) when § 7

(AygeTa #1 (B) Sudiadt @9 @ (C) BHIIA B (D) 39 | BIg &
To which factor, economic problem is basically related to -

(A) Choice (B) Consumer’s selection

(C) Firm selection (D) None of the above

(R)

Jard SuAIfier gy e & ufdues § —

(A%) T (B) TsH R (C) A= (D) Baw

The propounder of Law of diminishing marginal utility is -

(A) Gossen (B) Adam smith (C) Chapman (D) Hicks

(R)

e gk @ axqa & qeud e BN | A # afg w78 e ?

(A)srfrard awgy (B) sHERI® gy (C) faenfRan sy (D) &9 | BIg &

In which type of goods, price fall does not make any increase in demand ?

(A) Necessity Goods (By Comfort Goods (C) Luxury Goods (D) None of these
(R)

A @ g A geR @ Bl 8 7

(A) = (B) uf= (C) B (D) w1

How many types elasticity of demand has ?
(A) Three (B) Five (C) Six (D) Seven
(B)

T SuAIfET Faw & feR @ & gfiiaes 9 9 ?
(A)FTST (B) M=y (C) Rapret (D) fa=

Who basically propounded the concept of law of Equimarginal utility ?
(A) Marshall (B) Gossen (C) Ricardo (D) Mil
(B)
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Q7. T B - 9 999 ¢ Fod Swed & 9l wem gRafda Y o a9@d & °?

(A)TUdBTA (B) Sreimrer (C) rforeTersTar (D) &=

At which time all the factors of production may be changed ?

(A) Short run (B) Long run (C) Very long run (D) All of these
Sol. (B)

Q.8. uRad"eha smHuml #1 a9 swfd & —
(A)readTel Ud rEidTel SIA | (B) Sl |
(C) arudTa | (D) arfa e |

Law of variable problem is related to -

(A) Both short run & long run (B) Lon run
(C) Short run (D) Very long run
Sol. (C)

Q.9. HHifg® @@ 9 fFr=foalRea d fe wfafea fdan s & 2
(A)HTT=RT T4 (B) &gad @ (C) sragad T (D) Sugam @it

Which of the following is included in money cost ?
(A) Normal Profit (B) Explicit Cost (C) Implicit Cost (D) All of these

Sol. (D)

Q.10. A &) |31 ¥ gRad+ &1 u9rd —

(AYRer vd uRRad=elia @rmel 9N gsar 2 (B) @aet uRadeliel @rmd] R ggdl &
(C) Baat ReR @17l U Usdr 2| (D) T779 & ®I$ 7TEl
Change in quantity of production has effects on -
(A) Both Fixed and Variable Cost (B) Only Variable Cost
(C) Only Fixed Cost (D) None of above
Sol. (B)

Q.11. &9 9k AR=MRH 8rd1 8 7

(A) THIETBR (B) IR uferafien
(C) (A) Term (B) g4 | (D) qoi wferifira
In which market AR = MR 7?7
(A) Monopoly (B) Monopolistic competition
(C) Both (A) and (B) (D) Perfect competition
Sol. (D)
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Q.12. i ufgaifiar # @ Rer wgar & ?

(A) AR (B) MR (C) ARaam MR (D) 5% | BIg &

In perfect competition which of the following remains constant ?

(A) AR (By MR (C) Both AR and MR (D) None of the above
Sol. (C)

Q.13. ot w1 F=faRea § Sa—a1 wom uelia @ & ?

(A) S=1(P) (B)S= (%) (C)S=1(Q) (D) g9 & ®Ig 77l

Which of the following function shows the law of supply ?

(A) S =f(P) (B)S= (%J (C)S=f(Q) (D) None of these
sol. (A)

Q.14. oftf § &4 & Frafalea 9 -8 sro g ?
(A) IS &N H afg (B) AT aRAT B BIAl A dlg
(C) & T # wHl BT @ | HH (D) Sue |l

The reason of decrease in supply is -

(A) Increase in production cost (B) Increase in price of substitute
(B) Fall in number of firms in the Industry (D) All of the above
Sol. (D)

Q.15. Sl 9% Ul dedl B, fhY Rer Bex Te+1 3 &xdl B, 98 $I9 |91 I Pedal & 7

(A) APP (B) MPP (C) TPP (D) SwRIaa a

A curve which rises first and starts declining after that is called ?

(A) APP (B) MPP (C)TPP (D) All of these
Sol. (D)

Q.16. S@ET H dfg & AA—WY FA AN G Fol IRIdTLNA AN H AR —

(Ayereer SIdT § (B) gga1 WIaHl & (C) Rer <&am & (D) 5779 & BIg 7L |

With increase in output; the difference between total cost and total variable cost -

(A) Decrease (B) Increase (C) Remains constant (D) None of these
Sol. (C)

Q.17. % aoiR 4 gwq @Y g e g ?

(A)erE ufaafien (B) ot ufaanfian (C) TaTfawTR (D) vaTfers Y ufeanfian
Which of the following does not characterize the business environment ?
(A) Pure competition (B) Perfect competition
(C) Monopoly (D) Monopolistic competition
Sol. (D)
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Q.18.

Sol.

Sol.

Q.20.

Sol.

Q.21.

Sol.

Q.22.

Sol.

THIRAHR o fed gerlar & ?
(A)Seares ufshan (B) faawor gomed
(C) ar9IR vaf (D) 4 & g 78

What does a monopolistic market show ?
(A)Production Process (B) Distribution system
(C) Nature of market (D) None of these

(©)

TplieR & forg F=foRed § o197 @1 o9 @€ & 7

(A) B8 PHa Feive g ® (B) 7T dah FEUHSB T drell Biell 8
(C) @ra favig &1 ww1aer 81 a8 (D) Wi |l

Which one of the following is true for monopoly ?

(A) Firmis price maker (B) Demand curve slopes downwards
(C) Price discrimination possibility arises (D) All of the above

(D)

5l avg @1 qeu fFuifar g & -

(AYHTT & gRT (B) gt & gr=1 (C) w1 wa gfd & gR1 (D) TR g1

The price of a good is determined by -
(A) Demand (B) Supply
(C) Both demand & supply (D) Government

(©)

IR ¥og W 81T & —
(A) 21 sreupTel= Heg 9 (B) WHMI 4o 9 (C) i Hou | (D) 79 & 0

Market price is associated with -

(A) Price for very short period (B) Normal Price

(C) Permanent Price (D) All of above

(A)

A1 3 uRads & f=fofRaa ¥ 4 a9 3§ &R 8 ?

(A) SUNTERIT B T 7 gRad (B) wHafa awgsii @1 dvd 3§ uRadd
(C) wTHaE afs (D) Swiaa |+

Which is a reason of change is demand 7

(A) Change in Consumer’s Income (B) Change in prices of Related Goods
(C) Population increase (D) Allof these

(D)
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Q.23.

Sol.

Q.24.

Sol.

Q.25.

Sol.

Q.26.

Sol.

Q.27.

Sol.

IOIR ¥ o] B Pa 99 fag ) Fwifa 2l g o i —

(A) Teg @1 |0 > awqg B g
(C) =g @1 AT = awg @ qfed

Price of a good is determined at a point where -
(A) Demand > Supply (B) Demand < Supply

(©)

THfte arefeTes e § —
(A) erefeqaRerr # ISR & I[FTER Bl
(C) ¥@mex | | @ &g &1

Macro Economics studies -
(A) Employment opportunities in economy
(C) Elasticity of demand in Scooter

(A)

wWie & s A=faRad § $19 wmfya & ?
(A) &1 @1 ufErg
(C) TIET™ | =g g BT AET

Which one of the following is included in ‘Stock’ ?
(A) Quantity of money
(C) Quantity of wheat stored in warehouse

(D)

ferarae o faay wftaferd wear 8 7
(A) GNPyp (B) NNPyp

Depreciation expenses are included in -
(A) GNPyp (B) NNPyp

(A)

(B) a%g 1 T < a%q #I el
(D) &9 & BIg 7TEl

(C) Demand = Supply (D) None of these

(B) axgaii @ gl A @
(D) IR H L B HIFA &1

(B) Consumption Theory
(D) Price of wheat in market

(B) &
(D) Sue |l

(B) Wealth
(D) All of these

(C) NNPc (D) ) #

(C) NNPg¢ (D) None of these

I e H feafalRaa | & 59 wnfie o siran 8 2

(AT, HSTgY] &ITSl
(C) &7, o9, =1l
Which one is included in National Income ?

(A) Rent, Wage, Interest
(C) Rent, Profit, Interest

(D)

(B) @M, #wigRl, 9a+
(D) S, ASTEN, IaF, =TS, A

(B) Rent, Wage, Salary
(D) Rent, Wage, Salary, Interest, Profit

Page 6




Q.28.

Sol.

Q.29.

Sol.

Q.30.

Sol.

Q.31.

Sol.

Q.32.

Sol.

U IRfeav] § HH-1 &9 |ftaferg wedr 8§ 7

(A)arerfiras (B) fe<ir®
Which sector is included in an economy ?
(A) Primary (B) Secondary

(D)

(C) adra®

(C) Tertiary

e &= § fFrafaiea § 19 @ Jarg afafed & ?

(AydT (B) fafemior

Which one is included in Secondary Sector ?
(A) Insurance (B) Manufacturing

(B)

BT G BUT Ged B 7
(A) MPC + MPS = 0
(C) MPC + MPS = 1

Which one is true ?
(A MPC + MPS =0
(C) MPC + MPS =1
(C)

e & MuRe ged HF-9 8 ?

(AYISH @1 A ewal (B) TSt B &R
Which is the determining factor for investment ?
(A) Marginal Efficiency of capital

(C) Both (A) and (B)

(©)

(C) =R

(C) Trade

(B) MPC + MPS < 1
(D) MPC + MPS > 1

(B) MPC + MPS < 1
(D) MPC + MPS > 1

(C) (A) 3l (B)arH

(B) Interest Rate
(D) None of above

@ B QUi Ragid Fefafed 7 fbas S aww wenfia exa 8 ?
(B) a7 a1 SUHIT & dIF

(A) Frer qen e & 99
(C) gaa qen e & €=

(D) FTHEPIETE

Keynesian multiplier establishes relationshop between

(A) Investment and Income
(C) Saving and Investment

(A)

(D) & =

(D) All of these

(D) FfFT

(D) Banking

(D) &4 | HIE e

(B) Income and consumption

(D) None of these
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Q.33.

Sol.

Q.34.

Sol.

Q.35.

Sol.

Q.36.

Sol.

Q.37.

STEHITD TARTA BI GIMRI—

(AyERT # Ao & afg & B (B) gftt # oo & afg &l &
(C) Ui wd w1 S awER B ¥ (D) 379 | B 7E

In the situation of deflationary gap -

(A) Demand increase reapidly (B) Supply increase rapidly
(C) Both demand & Supply are equal (D) Noneof these

(B)

B B srRieaRen § A H# B g= P FF AW F BRI 8 ?

(A) qo1 RASTTR Al (B) 31gel ASFIR A=l

(C) (A) 3R (B) gMI (D) 399 & BIg &

In Keynesian Economics, the state of deficit demand is called as -

(A) Full employment equilibrium (B) Non full employment equilibrium
(C) Both (A) & (B) (D) None of these

(8)

=qq d1 @ SF B b fog F=faReaa & o9 9 9ifde sum fdy 51 w6 & 2
(A) ¥ & 3 HHI (B) @t eIk H ufonyfaal wkies
(C) P& B AU P BH BAT (D) Wi |l

Which monetary measures may be adopted to correct deficient demand ?
(A) Reduction in Bank Rate (B) Buying securities in open market
(C) Reducing Cash Reserve Ratio (D) All of the above

(D)

a—fafma yoreh & frafolRea § a9—d @w 2 2
(A) T goTTel! (B) snu=ft wEdnT # afy
(C) anfdfe srHary =8 (D) SuRIFraH!

What are the advantage of Barter System 7?
(A) Simple system (B) More mutual co-operation
(C) No Economic Disparties (D) All of above

(D)

Ha1 4 B8 BT el SHH D141 8 7

(A)FH] q&1, U= qal, €] &l (B) a%q H&1, 9T g1, U3 qal, | qal,
(C) W@ Hgl, o1 q&T, 93 Hal (D) 379 | BIg &I
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Sol.

Q.38.

Sol.

Q.39.

Sol.

Q.40.

Sol.

Q.M.

Sol.

Q.42.

Which is the correct order of money evolution ?

(A) Commodity money, Paper money, Metal money

(B) Commodity money, Metal money, Paper money, Credit money
(C) Credit money, Metal money, Paper money

(D) None of these

()

2iRe dB1 g9 WNEHR B S arel) T SHN B @R ?
(A)aTe], ST (B) g9a &1 (C) wrafdrad ST (D) SwIFd |l

Deposits accepted by the commercial banks -
(A) Current Deposits (B) Saving Deposits (C) Time Deposits (D) All of these

(D)

ATM &7 9ol &9 @11 8 ?
(A) T T1EH F (B) 3ifet eE9 w1 (C) siferes Tar A (D) (A) 3ii% (B) g1

The full form of ATM is -
(A) Any Time Money (B) All Time Money
(C) Automated Teller Machine (D) Both A & B

(©)

A e & yqa sewy Refalea 4 s a8 ?
(A) Bma RerRar wnfia &= (B) fage=h faffrra gv 9 Rerar @
(C) SWIG vd RSHIR afg & IURT &=l (D) SURIFT T

Which is the major objective or credit control ?
(A) To maintain price stability (B) To stabilize exchange rate
(C) To promote production and employment (D) All of the above

(D)
DI b gIRT B0 &1 SR Bl Sl € 7

(A) T gal (B) @@ Ha1 (C) Faa (D) 579 & w1
Which type of currency is issued by Central Bank ?

(A) Currency notes (B) Credit money (C) Coins (D) All of the above
(R)

ffoafaa # & o= eww@e &R B ?

(A) ScUIE YJeh (B) fashl & (C) 1 gewb (D) 379 & &+
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Which of the following is an Indirect Tax ?
(A) Excise Duty (B) Sales Tax (C) Custom Duty (D) All of the above

Sol. (D)

Q.43. 9oic UIeal & woed Ffofad 4 9 8 ?

(A)RTSTEE TTfeet (B) gsirma urfeai (C) (A) 3R (B) &MI (D) 577 | IS &l

Which is component of Budget Receipt ?

(A) Revenue (B) Capital Reciept (C) Bothe (A) and (B) (D) None of the above
Sol. (C)

Q.44. UTUE] PR B —

(A) ATRTH (B) SUBR &R (C) (A) 3R (B) &9 (D) 399 W BI &l

Direct tax -

(A) Income Tax (B) Gift Tax (C) (A) and (B) Both (D) None of these
Sol. (C)

Q.45. F=fafya § & $r9—a1 @9 v ga & i 4 g g 7
(A) GofiTer e (B) Yo @1 (C) (A) iR (B)&THI (D) 57° | BIg &

Which type of expenditure is made in bridge construction ?

(A) Capital Expenditure (B) Revenue Expenditure
(C) Both (A) and (B) (D) None of these
Sol. (A)

Q.46. MUR WgeH $1 e e B —

(A) ISh & J9-39 4§ (B) agail & I wd gt |
(C) & Bise a1 sfie 4 (D) A |
Balance of Trade means -
(A) Capital Transaction (B) Import & Export of Goods
(C) Total Debit and Credit (D) All of these

Sol. (B)

Q.47. 3 ¥l & Iad Afaaa | fhy wfafera fsan snan & 2
(A)dfe (B) TSR (C) ga1 (D) 31 w1

Which one is the invisible item of Balance of payments ?
(A) Banking (B) Shipping (C) Communication (D) All of above

Sol. (D)
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Q.48.

Sol.

Q.49.

Sol.

Q.50.

Sol.

Q.1.

Sol.

Q.2

Sol.

=M @A B FAfaRaa § -l 78 & ?

(A)gea wE1 & ST (B) Wiedl &1 @wd (C)swg w&] @ fafd (D) swam @it

Which one is the item of Current Account ?

(A) Import of Visible items (B) Expenses of Touris
(C) Export of Visible items (D) All of these

(D)

ol @ & st FefaRaa 4 B9 wfia B o & 2

(A) TR HY (B) fastt @i (C) fad=h uwer faf=ir (D) Suda &t
Which one is the item of Capital Account ?

(A) Government Transactions (B) Private Transations

(C) Foreign Direct Investment (D) All of above

(©

e eNeurer AT Byen fea ad @ Tg ?
(A) 1990 (B) 1995 (C) 1997 (D) 2000

Banking Ombudsman scheme was announced in the year -
(A) 1990 (B) 1995 (C) 1997 (D) 2000

(8)

SECTION -B

Write any two problems of an Economy.

Freferaer & ®IS | G ford |

(i) What to produce.
(i) How to produce.

Mention any two factors that affect price of elasticity of demand.

HART @) dra B g9Ifad &= arel Bl |1 dwdl B 9a1sy |

(i) Nature of commodity.
(i) Close substitute.

(1 Mark)

(1 Mark)
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Q.3.

Sol.

Q.4.

Sol.

Q.5.

Sol.

Q.6.

Sol.

What is the meaning of budget line ?

gule ¥@r 1 e § ?

Budget line is a line which shows all those combinations of two goods which a consumer can afford
by using his entire monetary on both the commodities. At every point on the budget line total income
will be equal to total expenditure. Budget line depends on prices of two commodities and monetary
income of consumer .

Vertical intercept of budget line represents the amount of Y commodity that can be purchased by the
consumer if he spends his entire monetary income on Y commodity. Horizontal intercept of budget
line represents the amount of X commodity that can be purchased by the consumer if he spends his
entire monetary income on X commaodity .

Budget line is a line which shows all those combinations of two goods which a consumer can afford
by using his entire monetary income on both the commaodities.

At every point on the budget line total income will be equal

to total expenditure. Y4
5 A
= $®
(Px x Qx ) + (Py x Qy ) = Ml 8 4
£ oo
£ 3
Here - Px = Price of X commodity ; é
Py = Price of Y commodity ; )
Qx = units of X commodity ; 2
Qy = units of Y commodity and =1
M.l. = Monetary income of consumer. B
o 2 4 6 8 10X

Units of X Commaodity

Give two examples of variable cost.

IRad=elicr @ & <1 Serexv Ay |

(i) Raw material (i) Labour

Mentionany two factors which affect the supply of a commodity.

g% B gl BT yHIfad PR arel B q BRPI BT gl ?

(i) Change in price of given commodity
(i) Change in price of input

What are the two main features of monopoly ?

THIIPR & &l gq@ faevarg a1 § ?

(i) Single producer
(i) No close substitute available in market.
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Q.7.

Sol.

Q.8.
Sol.

Q.9.
Sol.

Q.10.

Sol.

Q.11.
Sol.

Who determines price under perfect competition ?

goi gfeifiar § @ma Feko sF exar & ?

Y
&H A
") S, o G
8 £
a \ / o
P =
P /\ AR = MR
D,
: >X o > X
Quantity Quantity

In perfect competition market, the price of the commodity is determined by the powers of
market demand and market supply.

It means that the firms are adopting the dependent price policy, because they are producing a
very minute fraction of the total supply of the market.

How is price affected by increase in Demand ?

Demand of a commodity affects its price positively. Therefore as the quantity demanded increases
and supply remains constant, the equilibrium price and equilibrium quantity, both will increases.

In the present diagram on the X axis -

Quantity of the commodity onthe Y axis —

Price of the commodity .

O a Q
Quantity

What is Rent ?
Rent is any Payment to an owner or factor of production for use of the factor. Such as amount
payable to the landlord for the use of land.

Which who transactions determine Balance of Trade ?

Visible import and export of material goods.

Give two examples of Direct Tax.
Income Tax and Corporation Tax.
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Q.12.

Sol.

Q.13.

Sol.

Q.14.

Sol.

Q.15.

Sol.

Q.16.

Sol.

Q.17.

Sol.

Q.18.

Sol.

Q.19.

Sol.

Q.20.

Sol.

Q.21.

Sol.

What is meant by credit control ?
Credit control is a major weapon of the monetory policy used to control the demand and supply of
money in the economy.

State any two qualities of good money.
(i) Acceptable to all
(i) Durability

Write any two importance of Macro Economics.

(i) It is very important for evaluating the over all performance of the economy in the terms of
national income.
(i) It helps to bring a check on various national problems like inflation, unemployment,

balance of payment etc.

What is an open Economy *?

It is an economy in which there are economic activities between the domestic community & outside
people and Business can trade in goods & services with other people & businesses in the
international community & funds can flow as investments across the border..

What do you mean by GNP ?
Gross National Product at market price is the sum of market value of all final Goods and Services
produced by the normal residents of a country during an accounting year .

Define Secondary Sector of the economy.
In includes industries that produce a finished, usable product are involved in construction. This
sector takes the out put of primary sector and manufactures finished goods.

What is meant by aggregate supply ?
Aggregate Supply is the total supply of all final goods and services by all the producers or sellers of
the economy at given price level.

Write two main causes of Excess Demand ?
(i) Increase in money supply due to deficit financing.
(i) Increase in demand due to Increase in credit-facilities.

What is meant by Monetary Policy ?

Monetary policy is a programme of action undertaken by the central bank to control & Regulate the
demand. For supply of money with the public & the flow of credit — to achieving predetermined
macro economic goals.

Write any two recommendations by first Narsimham committee.
(i) SCR which are around 38.5% was bought down 28%
(i) CRR was also bought down 14% to 10%.

Page 14




Q.22.

Sol.

Q.23.

Sol.

Q.24.

Sol.

Q.25.

Sol.

Q.26.

Sol.

What is marginal utility ?

"The change in total utility with the consumption of one extra unit of the commodity, is known as
marginal utility ." or "The utility derived from the last unit of the commodity is known as marginal
utility "

MU = TU,—TUn_4

Here, MU = Marginal Utility

TU = Change in total utility

TU, = Total utility from ‘'n’ units of commaodity.

What is the relationship between price and demand?
There is inverse relationship between price and demand.Expansion of demand with fall in price &

contraction of demand with rise in Price.

State the law of supply.
"Expansion in supply at higher prices and contraction in supply at lower prices, is known as law of

supply, when other factors remains constant.

PX SX P1
1 40 P
2 50 P,
3 60 8
& X
o Q Q q
Quantity

What is meant by Fixed Cost ?
The cost of production which incurred on fixed factors of production, is known as fixed cost. It does
not change with the change in output.

For example - Rent, wages to permanent employees, interest, Premium of insurance etc.

Explain the characteristic of Indifference curve.

(i) Points along with the same indifference curve represents the same level of satisfaction .
All the points along the same indifference curve represents all those combination of two
commaodities which provides the same level of satisfaction to the consumer.

Y
iH

Units

1

> X

O x x
Units of x
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(if)

(iii)

(iv)

Different Indifference curve represents different level of satisfaction. If many indifference
curves are shown in single diagram then every indifference curve represent different level of
satisfaction.

Y
A

Units
ofy IC,
IC,

IC,

>X

Units of x
Curves nearer to origin represents lower level of satisfaction and curves which are away

from origin represent higher level of satisfaction.

Higher indifference curve represents higher level of satisfaction.

Higher indifference curve shows higher level of satisfaction in comparison to lower

indifference curve, because along the higher indifference curve we are using more units of
Y

H

A
\A\ c

N IC,

<<

(5]

Commodity y
<

O X X, X, -
Commaodity x
one commodity with the same units of another commodity or more units of both the

commodities. Therefore the satisfaction level of such combinations will be more .
Indifference curves are negative sloping. Indifference curves are always slopes downwards
to the right or negative sloping, because if consumer increases units of one commaodity, then

to maintain the same level of satisfaction consumer has to decrease the units of another

commodity.
Y
A
A
y
Units
ofy y, B
IC
X
O X X, >
Units of x
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v)

(vi)

(vii)

So as the units of X is increased then units of Y has to be decreased and vice-versa. Due to
this negative relationship indifference curves are downward sloping .

Indifference curves are convex towards the origin. Indifference curves are convex towards
the origin because marginal rate of substitution continously decreases. It is because as the
stock of one commaodity increases its marginal importance for the consumer will continously

Y
N
p A
g B Convex to origin
‘é Q
£ R .4 C
3 D
S B ~—

O 12 3 4 > X

Commodity X
decreases, therefore he is ready to sacrifice lesser and lesser units of one commodity for
the every extra unit of another commodity to maintain the same level of satisfaction.

Indifference curve need not be parallel to each other.

Indifference curve may be or may not be parallel to each other, it depends on marginal rate

of substitution. If marginal rate of substitution is same for two indifference curves then the
Y

H

Commodity Y

IC,
o Commodity X

slope of the curves would be same and the curves would be parallel to each other. But if
marginal rate of substitution is different then curves would be non—parallel to each other.

Indifference curves never intersect each other. Two or more indifference curves never

intersects each other, because every indifference curve shows different combinations of two
goods which represents different level of satisfaction.
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(viii)

> &
=
©
Q
£
8v A
Y, C
IC,
Y, B
IC,
O X > X
Commodity X

If two indifference curves intersect each other then it will discard the basic assumption, that

higher indifference curve shows higher level of satisfaction

Indifference curves never touches any of the axis. Indifference curve do not touches any of
the axis, because if indifference curve touches any of the axis then it would mean that the

quantity of one commodity becomes zero.
Y

H

Commodity y
O

IC,

?» X
O Commodity X

If indifference curve touches X axis then it means that units of Y commodity becomes zero
and if indifference curve touches Y axis then it means units of X commodity becomes zero.
As ordinal approach considers that consumer is consuming two or more commodities at a
time.

Q.27. What are the exceptions of Law of Demand ?

Sol. The reasons responsible for this are as follows :

(@

(ii)

Giffen goods : There is a positive relationship between price of commodity and demand of
Giffen goods (such as Maize, barley, etc.), which means that there is a fall in demand of
giffen goods with the fall in its price and vice-versa. As the price of Giffen goods decreases
consumer shift the resourses from Giffen goods to normal or

superior goods and as a result demand for Giffen goods decreases even with the decrease

in their prices.

Prestegious goods (Goods of distinction) : There are many consumers which purchases
certain goods only for their prestige or to use those goods as to show their status (as a

status symbol).
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Q.28.
Sol.

(iif)

(iv)

v)

For eg. Jwellery, precious stones, old paintings, etc. As the price of these goods increases
they become more prestigious and that's why these type of consumers increase their
demand and as the price of these goods decreases they become less prestegious or

becomes a normal goods and that's why they will decrease their demand.

Necessay Goods : The demand of necessary goods is less affected by the change in price,
such as demand of food grains, salts, demand of medicine for patient, etc. The demand of
these goods does not decrease with the rise of price and demand of these goods does not

increase even with the fall in their price.

Addiction : When the consumer becomes an addict of using a particular commodity or
particular trademark or particular brand then his demand remains unaffected even with the
change in its price because he require a definite amount at definite time.

Expectation of further change in price in near future : As price of the commodity rises
and there is expectation of further rise in price in near future then consumer will demand
more units of the commodity presently even with the increase in its prices (because the
consumer prefers to purchase the commodity when the commaodity is cheaper).

But if the price of the commodity falls and there is expectation of further fall in price in near
future, then the consumer will decrease the demand presently even with the decrease in
prices.

Explain the law of Diminishing Return.

Law of diminishing returns :- In short run period, when other factors of production remains

constant. If MP decreases with the increase in units of variable factor, then it is termed as law of

decreasing returns.

Assumptions —

(i)

(i)
(iii)
(iv)
(v)

This law is only related to short run period.

One factor of production is variable while others are fixed.
Units of variable factor are homogeneous and divisible.
Management and production technique will remains constant.

Output is expressed in physical terms not in

Y
.
Fixed | N | TP| AP | MP
Factors{(\V.F.) Outout
1 1 | 40| 40 | 40 P
1 2 |70] 35 | 30 AP
1 3 |oo| 30| 20 MP
> X
1 4 |100] 25 | 10 O Units of VE
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Q.29.

Sol.

Q.30.

Sol.

When this law applies to a firm its MP and AP of variable factor both decreases, with the increase in
units of variable factor, but MP is lesser than AP.

Therefore AP and MP both curves are downward sloping.

Explain the meaning of average cost. In short-run, why is the cost curve U shaped ? Discuss.

“The cost of all types of means of production which incurred on the production of single unit of
output, on an average, is known as AC.” It is the sum of average fixed cost and average variable
cost, therefore it is also termed as average total cost or per unit total cost. It can be calculated by
dividing the total cost by the total number of units produced.

AC =AVC + AFCORAC =TC/Q

Q[ AFCJAVC] AC v

Of -=1|-=1-- * _ TcC

1| 100 | 100 | 200 AC= -5 AC
2| 50 | 90 | 140 =AVC +AFC
3|333]| 80 [1133 Cost

4| 25 | 80 | 105

5| 20 | 84 | 104

6|166] 90 [1066

7| 143971 [111.4 > X
8 | 125 105 [1175 o Output

The slope of AC curve is just like 'U' shaped due to implementation of laws of returns in the firm.
Initially when law of increasing returns applies to the firm, its AC decreases When law of constant
returns applies AC reaches to its minimum point and later with the increase in output, law of
diminishing returns applies and that's why AC increases.

Explain the Income method for calculating National Income.

Income method involves the following steps :

()] Identification and Classification of Producing Enterprises : First of all the producing
enterprises in the domestic territory is identified which employ different factor input. Then all
the producing enterprises are broadly classified in three —

(a) Primary Sector. Those producing enterprises are included in this sector which
produces goods by exploiting natural resources, such as land, water, forest, mines
etc. This sector includes agriculture and allied activities, fishing, forestry and
logging, mining and quarrying.

(b) Secondary Sector: Those producing enterprises which uses the produced goods

of primary sector as a raw material for production process, are included in

Page 20




Q.31.

Sol.

secondary sectors. Such as construction; manufacturing; water, electricity and gas

supply.

(c) Tertiary Sector: Those producing enterprises which produces services for primary
and secondary sector is included in this sector, such as banking, insurance,

transportation, communication, trade and commerce, etc.

(n Classification of Factor Income : The income received by different factors in these

producing sectors is classified in following groups :

(a) Compensation of Employees : It is the Economic Return which is given to the
Labourer for their labour services which includes Wages and Salaries in Cash |,
Payment in Kinds, Employers Contribution in Social Security Schemes, etc.

(b) Operating Surplus: It refers the Income from Property and Entrepreneurship. It
occurs in Private and Government Enterprises which includes Rent , Rovalty |,
Interest and Profit (Dividend + Corporation Tax + Undistributed Profit) .

(c) Mixed Income : It refers to the Income of the Self Employed Person which uses
means of production owned by himself such as income earned by doctor from his

own clinic, etc.

(my Calculation of Domestic Factor Income (NDPgc) : All these factor income is added at
individual enterprises level and then by adding factor income of similar enterprises we
receive factor income of industry and by adding factor income of all the industries we
receive NDPgc. While calculating domestic income we have to add all factor income which is
generated inside the domestic territory whether it is generated by normal residents or non

residents .

(V) Calculation of National Income: National Income can be obtained by Adding Factor
Income from Abroad and Deducting Factor Income to Abroad to NDPg¢ .
NNPgz = NDPg: + Net Factor Income from Abroad Net Factor Income from Abroad: It refers
to the difference between the income received from abroad for rendering factor services by
normal residents and the income paid for the factor services rendered by non—residents in

domestic territory of a country.

Explain the concept of Domestic Product. Distinguish between Gross Domestic Product and Gross
National Product.

Domestic product is the sum of value added by all the producers in the domestic territory of a
country during a year. It means all value-added activities which are performed within the domestic

territory would be included, whether this activity is done by the Indians or foreigners.
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Q.32.
Sol.

Gross Domestic Product

Gross National Product

Domestic product is the sum of value added by
all the producers in the domestic territory of a
country during a year, whether the value added

is done by Indians or foreigners.

National product is the sum of value added by
the Normal residents of a country whether with
in the domestic territory or out side the

domestic territory.

It is an Territorial concept because it define
with the reference to domestic territory.

It is an Economic concept because it define
with the reference to productive efforts of

Normal Residents.

It does note include Net Factor Income from

It includes Net Factor Income from Abroad.

Abroad.

How employment is determined by savings and investment ?

The Equilibrium Level of output of an economy can be determined by A.D.(C+ lyand A S.(C + S)
approach or by | and S approach. Both these approaches provides the same conclusions. By S and
| approach, the economy will be in equilibrium at that income level where saving and investment are

equal or saving function curve intersects the investment function curve.

3

Y |C |8 |I Hfect onempl./ o
output / Income § S
ol 20|-20| 10 Brp. T g
40| 50|-10| 10| D> ASQUpt T Eg | E |
80| so| of 10 rcome. 8 /
120 | 110 | +10 | =10 [ _, FuilibiumAD = AS %‘O Y >X
160 [ 140 | +20| 10 Bl 4 = / National Income
0N
200170 1430 | 10| a5 Ao | 2s
240|200 |+40| 10 <
Income 4 w«\,.v

In the present diagram SS is the saving function curve, which shows the desired saving at each
level of income by all the savers of the economy. Saving function curve starts from below the origin
because at lower income levels savings are negative (because consumption is more than income).
As the income increases saving will also increases. That's why saving function curve is upward

sloping.

Here we assumes that firms plans to invest the same amount at different level of income
(autonomous investment), therefore investment curve is parallel to X axis.

At ‘E' point in present diagram | = S, which shows the equilibrium point of economy. So at output
level ‘OY’ planned saving and planned investment are equal to ‘EY’. In the present example when
income was Rs 120 crores saving and investment are equal to Rs 10 crores each. Therefore Rs 120

crore is equilibrium level of income of economy.
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Q.33.
Sol.

What do you mean by inflation ? Does it affect price and output ? Give reason.

Inflation is a sustained increase in the general price level of goods and services in an economy over
a period of time.

Due to inflation the general price level rises, each unit of currency buys fewer goods and services;
consequently, inflation reflects a reduction in the purchasing power per unit of money — a loss of real
value in the medium of exchange and unit of account within the economy.

In the situation the rising prices stimulate the production of all goods — both of consumption and of
capital goods. As producers get more and more profit, they try to produce more and more by
utilising all the available resources the their disposal.

However, such favourable effects of inflation upon production are not always found. Sometimes,
production may come to a standstill position despite rising prices, as was found in recent years

in developing countries like India.
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